
1.21 Gigawatts “Jigawatt”- From Back to the Future movie 
-was incorrectly pronounced and wasn’t realized until after the movie was released 
TW= Terawatt; GW= Gigawatt; MW= Megawatt; KW= Kilowatt 
 
1 TW= 1000000000000.0 W= 1x1012 (1 trillion);  
1 GW= 1000000000.0 W= 1x109 (1 billion)  
1 MW= 1000000.0 W= 1x106 (1 million);  
1 KW= 1000.0 W= 1x103 (1 thousand) 
 
 
1 GW = 1,000,000,000.0 W 
 
1 GW = 1,000,000.0 KW 
 
1 GW = 1000.0 MW 
 
1 MW = 1,000,000.0  W 
 
 
 
http://www.kylesconverter.com/power/gigawatts-to-kilowatts 
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